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CHEMISTRY



1. Which of the following is act as strong reducing agent 2 (M )

(1) Ce** (2) Gd® @ (4) Tb®
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2. Correct IUPAC Name of K2aMnQasJs : . (M )

\,(;I/)/Potassium tetraoxidomangnate (Lﬂ (2) Potassium mangnate
(3) Potassium tetraoxido mangnease (vii) (4) Potassium tetraoxido mangnate (vii)

’2? [ 04)
fbM\lm edraor1do V"‘“”ﬂ"‘“t‘(v/])_

s
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L e
3. Statement-1 = F has highest electronegativity in it's group. ~

State en}t}'«O has least negative electron gain enthalpy in it's group.
\_(J/)ﬁJTh statements are correct T T T

2) Both statements are incorrect

(2)
(3) Statement-1 is incorrect, Statement-2 is correct
(4) Statement-1 is correct, Statement-2 is incorrect

)
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: @—)ROS red ppt. (M>
4 \/y'\_/-@/

[X]is
(1Y’ DMG (2) p-nitrophenol (3) FeCls (4) None of these

ey,

P
GETSCHOLARSHIP | NS
© RANKERS OFFLINE CLASSES NZLLTLE)| FORNEWADMISSION | GOOGLE FORM




5. Select correct option regarding(Zn, Cd &@ <M>

(1) Hard metals
(2) Paramagnetic in nature '
(3) High enthalpy of atomisation ot

(4) Hg shows variable valency where as Z/n Cd does not
4 //

g
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Column-l

Column-ll

A) | Lymam~

IR

(
(B) | Paschen
(

d
)

uv

C) | Balmer __ | 4R)

IR

(D) | Pfund ./~

NS)

Visible

Select correct option :
MQ,B—P,C—S,D—R
D-S

3)A-R,B-P,C-Q

e

2)A\R,B-Q,C-P,D-R
4)AYS,B-R,C-P,D-Q

e
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7. The oxidation state of Fe in the complex formed in brown ring test is : @

st 12
ﬁ—\-‘e ('NOJ(HLO)‘EJ

)
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8.

Enthalpy of vapourisation of CCls is 30.5 kJ/mole, then heat required to vaporise 284 gram CCl 4 is

M
kJ. (nearest Integer) ! :

M 'L+’,7>§‘§Y"]
YN l2.-|,l42 D

—_—

\gqa = 30-3IK3
LSy

\
56
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9. Radioactive decay of Br8? (Z = 35) isotope has half-life of @e fraction of remaining particle in ( ~ >

one day is x 10-2 (Nearest integer)
{Given antilog (0.2006) = 1.587, log2 = 0.30}

— "'t\/ - - ] /VL j\fb
3 = Vv L 3¢ A "
l( - \hL — l N 9 (l) 2L = BL lpgVo
— i R T I
3 - N /L® \ Gt
;2 - — & 2 ? log, = \Da t‘Lﬁ)
e lne _ 1 |4 N 3 y
\ ) _ T = — 'NnMb =
— /N 2 ", N 2 N\u /l
7 )R C 7 v
~~— p
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+3%
1 M
10. During electrolysis of AuCls™ current is circulated for 10 min./and given mass of cathode is 1.318 gram.
Then amount of charge circulated during electrolysis x 102 F. (nearest integer)

[Given atomic mass of Au = 197] — ~———"""""

Au’T Hze) —IAu
_— r\—,}au\—u/

2 X%X965060 C

> elCchoc,\«\emmaL &IWML,J = £9 wt

| 473 =
o(} (3N

—

=>

I 3V3 3% 9L S = Q
lﬂq_

ra
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CHEMISTRY



10.  Why oxygen shows anomalous behaviour in 16" group? @
(1) Due to large size, high electronegativity.
(2) Due to small size, small electronegativity
(3 Due to small size, high electro negativity, absence of vacant d-orbitals
(4) Due to large size, high electronegativity presence of vacant d-orbitals

—

g
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11. On reaction of which of the following Nessler's reagent give Brown precepitate.
(1) NH3 (2) SO2 (3) Cl2 (4) CO2

p
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13.  Which of the following has highest ionisation enthalpy? <M>
(1N (2)C (3) Si (4) Al

4
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14. How many of the following have zero dipole moment ? (M>
NHs, H20, HF, CO2, SO2, BF3, CHa4

pd’%“ / % <t 44—
s |

7 =

b
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15. 50 ml of 0.5 M oxyalic acid is neutralize by 25 ml of NaOH, then amount of NaOH in 50 ml of solution is (M )
—_gram (Nearest integer)

o O
HO——g— lCJ——O"I T 9 Ng 0 ¥ > Nq0—~yf—lclfor\|a + 2 l:({()
9 <eq - Mllie - N x W =50
"o OYM‘M‘Q‘\ ‘fbx«fbcuiofs LOXoJ > eggx;v'ug - 50
hoBP J =2 LM&(NM\——{W]
" Qﬂ\ }{9{(\&4 orl\}Qo}'(:,,eﬂu' @\\} q\
:,S—'Q losom| ﬂugm
5% m|
bl G
" GETS FILLTHE
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16. In a closed container equilibrium concentration of NH3(g), N2(g) and Hz(g) is 1.5 x 102 M, 2 x 102 M (M>
and 3 x 1072 M respectively, then equilibrium constant for formation of NH 3(g) at 500°C is

(nearest integer) -

Ny + 2 H >~  9NH
5 o — ,

-
OQX'ZJ'X/"S/( 27

? X Lo~

g
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17. Using 2s and 2p orbital intermixing total anitbonding molecular orbital are formed. ( A")

() r 7D \,O?

0 by

DDy o

@ T b MATQW

Vg,

s
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18. IUPAC name of the compound is :

4 2
Mhex- 2-en-1-ol (2) Cyclohex-1-en-3-ol

(3) 3-Hydroxycylohexene (4) Cyclohex-1-en-3-ol

C«)dblo\g)(/,?— ev\&_ wQ

b
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@

X Ka

19. Correct match of the following compounds with given pka value is
Column-| Column-li
(A) | Phenol L(P) |71 Padie
(B) | Ethanol -~ (@) | 15.1 Sheogn
(C) | para-Nitrophenol~ =] (R) | 10.3
(D). {‘meta-Nitrophenol ——2(S) | 8.3
_(A-RB-Q,C-P.D-5 2)A-Q,B-P,C-R,D-S
(3)A-P,B-Q,C-R,D-S 4)A-S,B-R,C-Q,D-P
W on

L)

L3

5

C)Nb

S d>g\L
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20. The correct ascending order of acidic strength of the following compound is : ( M ’

Hs
(A) CH=CH (B) CH3—('3——H (C) CH2=CH:2 (D) CH3—CHs
CHs
( B<|2<C<A 2)C<B<A<D (3)A<D<B<C 4)D<B<C<A
At ¥
cH=(® | : C —CH@ # 2
B = W c— (’68},3 Jd a2 dei
{
i
> 5B
— ———

p
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N(_\

NC) M
2 (|>
21. DN, A ﬁ[/ T /|

(2)CU2'C|2 LQ/ \/

Product A is:

NH2
N2*Cl~ cl OH
(1) O/ 2 3) O/ 4)
Cl

s
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22. Sum of total no. of ¢ and = bond in 2-formylhexanoic acid is : @

y O
CH, \
v \\O\,I
Y
3 = .
~

P
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23. Correct matchis : ( M ’
Column-l Column-li

(A) | Starch +#4AP) | a-glucose
(B) | Cellulose —(Q) | B-glucose
(C) | Nucleic acid | (R) | a-amino acid
(D) | Protein /\&S) Nucleotide
(1)A-P,B-R,C-S,D-R (2) A-R,
3)A-P,B-Q,C-R,D-8 A-P,

~ GET SCHOLARSHIP
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'CH&
(cHg

X, Y, Z are respectively
\,()’;%ibal-H, NaOH ag/A, Zn Hg-conc HCI, A (2)Dibal-H, NaOH alc/A, NH2—NH2/KOH, A
(3) LiAlH4, NaOH ag/A, Zn, Hg-conc HCI, A (4) LiAlH4, NaOH ag/A, NH—NH2/OH", A

X

g
GETSCHOLARSHIP | NS
© RANKERS OFFLINE CLASSES NZLLTLE)| FORNEWADMISSION | GOOGLE FORM




1. CHCly, NaOH

> P, major product P of the reaction is :

P
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26. Which of the following reWct reaction ( M ’
NaNO,, HCI

(1) CHa—CHz—CHz—NH> CH3—CHz—OH,

5°C

(2)0 = O:
o7 08

(4) CHs—CHz—CONH s (e CH3—CH2—QH2—NH2>< X

s
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27. Which of the following show geometrical isomerism. Y\ X)& @

*CHBr H2 Bre
1)(7 @) 3) 4)
XX

Br / Br Br

s Rehictdd Rob!

— Mlj’wv bl sPhodd 6 He_ Gome
O{A\’L(/{)Bwnf{ qu‘

r
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28. Statement-l : Alkyl halide can be directly converted to alkyl isocyanide. @
Statement-ll : The reagent used to convert alkyl halide to alkyl isocyanide is AGCN.
(1) Statement-l is incorrect & Statement-ll is correct.
(2) Statement-| is correct & Statement-ll is incorrect.
(

3) Both Statements | & Il are incorrect.
(4) Both Statements | & Il are correct.

p
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29. Different adsorption method used in which type of chromatography.
X —>TLC Y— Column chromatography Z — Paper chromatog ]
(1) Only X (2) Only Y (3) Only X and Y Il X,Y and Z

4
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